RO HIAVAR[RERRAIER]

R.04%10H28H

ouT IN Gross  Hdcp Net
B Kb #% 46, 46 108 35.2
LB @ &R 46 46/ 108 35.2
3 h FHk o0 50 144 356
4 2l B o0 o0/ 144 356
[562] lwx FHk 37 317 1.2 35.8
6 Alll 18 43 48 12.0 36.0
7 48 BI|RA - 461 46 96 364
8 LA &83h 46 46 96 36.4
9 4= 3 46 46 96 364
[106Z] #ZA& 20 46 46 96 36.4
11 & &4 46 46 9.6 36.4
12 chl| = 46 46 96 364
13 INKA R o1 51 144 36.6
14 Hhlm e 45 45 8.4 36.6
[15] &#p s=iF 38 38 12 368
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RO HIAVAR[RERRAIER]

R.04410H 28H

ouT IN Gross Hdcp Net
16 AR kb 43 43 6.0 370
17 58 AL 29 520 18.0 37.0
18 A (EE= 421 42 48 3].2
19 K& BHE 48 48 108 37.2
[20i] L SEIA 43 48 108 37.2
21 ZFEA LIF o3 93 156 374
22 [R#g @=L 23 503 15.6 374
23 F&mE P&ER o3 53 15.6 374
24 I 46 46 84 3/.6
[25Z] &n 19— 46 46 84 3/.6
26 LT =% 40 40 24 37.6
27 A = o1/ 51 13.2 378
28 3T EE o1 o1 13.2 37.8
29 i ER o1 51 13.2 37.8
[30fi] #&HmE &Y o1, 51 132 37.8
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RO HIAVAR[RERRAIER]

R.04E10H28H
ouT IN Gross Hdcp Net

31 Z*H EE 44 44 6.0 38.0
32 ri=f el F VN 44 44 6.0 38.0
33 h EE 49 49 108 38.2
34 Z2H EXE 49 49 108 38.2
[35(] 3R EEA 49 49 108 38.2
36 INGS RO 43 43 48 38.2
37 =E (e 42 42 3.6 384
38 L SR € T 04/ 54 156 384
39 B AEk o4 24 156 384
[401i)] #Em Hh#% 48 48 9.6 384
41 SIE [l 48 48 9.6 384
42 LI # sk 203 53] 144 38.6
43 AR S 203 53] 144 38.6
44 B0 E 47 47 84 38.6
[451i] |Lg 5= 47 47 84 38.6
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RO HIAVAR[RERRAIER]

R.04E10H28H
ouT IN Gross Hdcp Net

46 95 R 46 46 1.2 38.8
47 EA B 46 46 1.2 38.8
48 B B2 o1/ 91 12.0 39.0
49 B4t 28R 45 45 6.0 39.0
[50] fig == 45 45 6.0 39.0
51 BH A o7 o/ 18.0 39.0
52 fn K FER 45 45 6.0 39.0
53 ZMA & 44, 44 48 39.2
54 2 =P8R o0 50/ 10.8 39.2
[55f2] X+ ER==£R 44 44 48 39.2
56 INA EAT 29 95 15.6) 394
57 FEfE RlG 49 49 96 394
58 X0 8K 99 290, 156 394
59 .5 P A 48 48 84 39.6
[601i2] kK =tE 204/ 54 144 39.6
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RO HIAVAR[RERRAIER]

R. 044£10 A 28 B
ouT IN Gross  Hdop Net

61 FEH B 438 48 8.4 396
62 Zx1 #3ER 47 47 1.2 39.8
63 g R 46 46 6.0 40.0
64 =y, =Y 40 40 0.0 40.0
[656I) A ZEiy 45 45 48 40.2
66 INK FYF — 50 350 9.6 404
67 g 49 49 8.4 40.6
63 h RAF R o8| 98 16.8 41.2
69 5@ &’ 08 958 16.8 41.2
[7062] WTF &= 238 o8 16.8 41.2
71 1T RES D2 22 10.8 41.2
72 MR SET o1 o1 96 414
73 =i ESE 45 45 3.6 414
74 g0 — 44 44 24 41.6
[752] @t xx 60 60 18.0 420
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RO HIAVAR[RERRAIER]

R.04%10R 28H
ouT IN Gross  Hdcp Net

16 k& B 04 54 120 420
77 &F = 60 60 18.0 420
78 HiE = 24 o4 120 420
79 NE HE 48 48 6.0 420
[801] psm /|=E 29 09 16.8 422
81 B EX 52 02 9.6 424
82 It it o1 o1 8.4 426
83  FEE J# o]/ o/ 144 426
84 gD ¥ 20 o0 7.2 428
[85{3f)] chjE =— 26 06 13.2 428
86 (LA B— 61 61 18.0 43.0
87 7 B 438 481 4.8 43.2
88 K E4 51 51 1.2 43.8
89 At ARk 62 62 18.0 440
[901i] #nA& =& 50 500 6.0 440
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RO HIAVAR[RERRAIER]

ouT

IN

Gross

Hdcp

R. 045%10A 28H

Net

91 e A 63 63 18.0 45.0
92 SR S 67 67 18.0 490
93 AN fEE 69 69 180 51.0
94 K& B ¥ 74 74 18.0 56.0
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